
Associative Property Of 
MultiplicationUse the associative property to simplify and solve the 

expressions. The first one has been done for you. 

3 ✕ 16 = 3 ✕ (2 ✕ 
8)  

= (3 ✕ 2) ✕ 8  
=  ___ ✕ 8  
=  ___   

2 ✕ 14 = 2 ✕ (2 ✕ 
7)  

= (2 ✕ 2) ✕ 7  
=  ___ ✕ 7  
=  ___    

16 ✕ 4 = (8 ✕ 2) ✕ 
4  

=  8 ✕ (2 ✕ 4)  
=   8 ✕ ___  
=  ___   

2 ✕ 15 = 2 ✕ (5 ✕ 
3)  

= (2 ✕ 5) ✕ 3  
=  ___ ✕ 3  
=  ___   

3 ✕ 21 = 3 ✕ (3 ✕ 
7)  

= (3 ✕ 3) ✕ 7  
=  ___ ✕ 7  
=  ___   

3 ✕ 14 = 3 ✕ (2 ✕ 
7)  

= (3 ✕ 2) ✕ 7  
=  ___ ✕ 7  
=  ___   
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